JCOAZ E5 )5 OSLOC~D— %A ZH SR
S FICAET 18 H HAE
N e ) A &8 (1) Jg?f;; L% (1) Jcﬁoﬁﬁ?;f‘ &8 (1)
o 59,000 [ BB R EIARIES | 10,000 4| 49,000
i 23,000 3| 23,000
e 0
o 43,000 [E IR EARES | 10,000 71 33,000
W 24,000 3| 24,000
LI 26,000 |ILIE L ER IS A1 B EE 2 6,000 5| 17,000 1 3,000
s 34,000 71 84,000
P 32,000 |48 KBTS RLE 2 3,000 6 29,000
Kk 23,000 3| 23,000
A 12,000 |5 A SR B R A Y 2 6,000 2 6,000
— 19,000 F AR B R AT AR 2 5 IS 4 10,000 1 9,000
BE 146,000 | AREEIERA R 2L R 100,000 5 46,000
T3 128,000 |TFEEREERERNRIES 100,000 5 28,000
B 137,000 PRRASRIERNARES 100,000 7 37,000
)1 57,000 13 57,000
(IIE 16,000 | LB IRERRIER AR E = 5,000 3 11,000
=410 19,000 | & L IRERRIER AR E S 3,000 3 16,000
papill 12,000 4 12,000
& 35,000 8 35,000
Eiy 41,000 |E ¥ REERERABIES 3,000 3 38,000
iz B 36,000 iz B R EGRERABHES 3,000 4 33,000
e[t 111,000 |70 REGRIERARHES 40,000 10 71,000
RN 50,000 |5 REERERABIES 10,000 9 40,000
Y 46,000 | = HEREERERABIES 30,000 3 16,000
W 30,000 | RESRERARIES 30,000
AR 46,000 |REIEEARIES 30,000 4 16,000
KB 135,000 |KIREGRIER IR ES 100,000 8 35,000
I 58,000 | o RAEARIES 10,000 11 48,000
=R 6,000 2 6,000
Foak L 9,000 |Fnak ILEGRIERARES 3,000 2 6,000
=331 13,000 | S EURERFRIE AR E S 3,000 1 10,000
AR 10,000 | &R IRERRIE AR E S 10,000
fif] | L1 48,000 12 48,000
= 31,000 6 31,000
1| 111,000 il 0 R EGRIETEA R E S 100,000 3 11,000
(Y= 6,000 2 6,000
= 9,000 2 9,000
=% 19,000 4 19,000
=] 19,000 |& s R ERPRIETE AR EE 2 10,000 3 9,000
e 92,000 |4 i R EG R IE TR E S 3,000 18 89,000
s 43,000 |7 REERERNARIES 10,000 4 33,000
FeIF 24,000 5 24,000
REAR 10,000 1 10,000
Koy 0
= I 20,000 2 20,000
BV S 114,000 |FEIR & RIETE IR E S 30,000 12 84,000
T 23,000 [y REGRIE AR ES 10,000 2 13,000
&t 2,005,000 788,000 222 1,214,000 1 3,000




